o Complete the sentences with the correct verb form. Complete the crossword.

2
( live lives™ play plays go goes have has ) =
6h
1 Lucy _lives in Hill Street. 1
2 She to Glenside Primary School. 5) T
3 She lunch at school. "
4 She football in the afternoon.
7» Vv
5 Jim and George in River Road. " s
6 They to Riverside >
Primary School. 4» §
7 They lunch at school.
8 They tennis in the afternoon. 3

9 Write the answers.

( at a restaurant jazz the piono at adance-schiool the guitar pop )

1 Where does Bob work?
He works at a dance school.

2 What does he play?

3 What music does he like?

4 Where do Steff and Poppy work?

5 What do Steff and Poppy play?

6 What music do they like?

9 Write the questions.

1 Where _does Greg live?
He lives at number 35.

2 Where to school?
He goes to Lakeside Primary.

3 Where
They live at number 37.

4 What sport
They play badminton.




